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Abstract

In a growth model with polluting resources, Schou shows that the pol-
lution externality does not distort the decisions of the market economy, so
that a specific environmental policy is superfluous. We show that this result
is not generally true, and that it stems from the particular specifications
chosen by Schou.



1 Introduction

In a recent paper, Schou (2002) studies an endogenous growth model in
which a non renewable resource gives rise to pollution. He obtains a very
stimulating result along with the pollution externality does not distort the
decisions of the market economy, so that a specific environmental policy is
superfluous.

The purpose of the present paper is to show that this result is not gene-
rally true, and that is stems from the particular specifications of the model
chosen by Schou.

To obtain more general results, we study a non specified version of the
Schou’s model in which we characterize the optimal paths and the equi-
librium ones. Comparing the two shows that an environmental policy is
generally necessary to implement the optimum.

The non specified model is studied in section 2. In section 3, we consider
two specified models : the model of Schou and a model with a separable
utility function.

2 The non specified model

The homogenous good is produced according to the technology (for
convenience, the time index is suppressed)

A
Y = F( /0 f(i)di, Ly, R). 1)

Ly is the amount of labour, and R is the flow of non-renewable resource ; x;
is the amount of intermediate good 7, A is the number of existing types of
intermediate goods (the stock of knowledge) and X = fOA f(z;)di is an index
in which one assumes f’ > 0 and f“ < 0. The partial derivatives F'y, F;, and
Fr are positive. In the R&D sector, knowledge is produced along with

A= CI(LA,A), qrL > 07 qa > 07 (2)

and Ly + Ly = 1 (normalized labor force).
The natural resource is extracted without cost from an initial stock So,
and we have the standard resource law of motion :

S=-R. (3)

Pollution is generated by the use of the natural resource within the
production process

P=h(R), N >0. (4)



The homogenous good is used both for consumtion, C, and investment
in intermediate goods; one unit of homogenous good can be transformed
into one unit of intermediate good, that gives

A
Y=C+ / x;di. (5)
0
Finally, the utility of the representative household is

/ U(C, P)e"dt, U >0, Up < 0, p > 0. (6)
0

2.1 Welfare

The social planner maximizes [;~ U(C, P)e”"", subject to (1), (2), (3),
(4) and (5). After elimination of the costate variables, the first-order condi-

tions reduce to the three following characteristic conditions (see Appen-
dix A) :

F,, = Fxf'(z;) =1, for all i, (7)

that implies z; = x V ¢, and that allows to note F, = F},, V.

Uc Fi dL | 4
— e L 4L Abp - . 8
o= (P () 1)+ s ®
Fp  Uph' Usk' . Fr i a
R - =L AL, 9L p - . 9

Condition (7) (which is the “static efficiency” condition (3) of Schou)
says that the marginal productivities of intermediate goods are equal to their
marginal cost, that is to say to one. Equations (8) and (9) are respectively
the conditions of Ramsey-Keynes and of Hotelling. In these conditions, the
RHS (let us denote it H) replaces the marginal productivity of physical
capital (“Fk”) of the standard neo-classical model. In order to interpret
(9), we multiply the two sides by Fr and we consider an interval of time
(t,t+ At).

The term Fr(t)At is the increase in production (Y) on (¢, + At) if one
unit of resource is kept in the ground at ¢ and if it is extracted at t + At.

The term Fgr(t)H (t)At is the increase in Y if one unit of resource is
extracted at t and if it is (indirectly) embodied in the R&D sector to produce
more Y. We use the expression “indirectly” because extracting more resource
allows to liberate labor from the final good sector (Ly decreases), then to
increase labor in R&D (L4 increases), and finally to increase A and Y.



If there is no pollution, the standard Hotelling condition is Fp = FrH.
In the present model, extracting means also polluting, and extracting at ¢
or at t + At means also polluting at ¢ or at ¢t + At.

The term [Uph'(p — Uph'/Uph’) /Uc]At is the quantity of consumption
good that has to be given to the household to compensate him for the
transfer of pollution of one unit of resource from ¢ to ¢t + At. Thus the

difference FrAt — [Uph/(p — Uph'//Uph")/Uc]At is the net increase of good
(after compensation of households) resulting from the transfer of one unit of
extraction from t to t4+ Atf. At optimum, it is equal to FrH At, that explains
the Hotelling condition (9).

2.2 Equilibrium

At equilibrium, there are three market failures (see Schou, p.613). Thus
we use three tools : a subsidy to research (o), a demand subsidy for the
intermediate goods (s), and a tax on the resource (#) (since P and R are
linked by a functional relation, it is equivalent to tax P or R). The price of
good Y is normalized to one, and p = p; V ¢, w, pr and r are, respectively, the
price of intermediate goods, the wage, the resource price, and the interest
rate.

In the homogenous good sector, the profit is

A A
My = F( / Fai)di, Ly, R) — / p(1 — s)asdi — why — p(1+ 0)R.
0 0
The first order conditions of the maximization are
F,, —p(1—s)=0, where F,, = Fxf'(x;), for all (10)
Fr—7mpr =0, where 7=1+6, (11)
F—w=0. (12)

From (10), one gets x; = x, for all i. Moreover, differentiating (10) with
respect to x; gives the slope of the demand of any intermediate good 7 :

or; 1-—s O*F
= h F,=—=
p; o where Fj, 61‘?’

Vi (13)

The profit of the monopolist which produces x; = x, V 1, is

F,
1—s

Im=pmp-1z= — 1.

Using (13), the maximization of II"* leads to

F:m: FCL’
lfsx+175

~1=0, (14)
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that gives the profit at its maximum level,

—932Fm
1—s °

n" = (15)
The value of the firm at ¢ is V; = [ 17" Ji rudugs, Differentiating with
respect to ¢ and rearranging gives ry = V; Vi + 17"V,
In the research sector, the profit is Viq(L4, A) — w(1 — o)L 4. The maxi-
mization with respect to L4 gives

1—0

V= w. (16)
qar
In the resource sector, we have the standard equilibrium “Hotelling ru-
le” :
PR
— = 17
o (17)

Finally, the maximization of the intertemporal utility gives

Uc
Ve _ 18
Uo (18)

Now we eliminate prices in order to obtain conditions which can be
compared to (7)-(8)-(9).
From (14), one gets

F,=(1-35)—xFy, (19)

which can be compared to (7).

From (12) and (16), one gets V' = (1 — 0)FL/qr, that gives V/V =
F1/Fr, —qr/qr. Using (15) and (16), we have r = V/V +1I"/V = Fp/F, —
qr/qrL — xQFquL/(l —s)(1—0o)FL.

Finally, using (18), one gets

Uc Fr qu (1-s)(1-o0)F’

(20)

which can be compared to (8).
From (11) and (17), we have Fr/Fr = 7/7 + r. Then, using (18) and
(20), one gets
FR T FL qr $2Fm$QL

Fr 7 F, a (-8)(-o)F, 1)

which can be compared to (9).



2.3 Optimal policies

Putting together (7)-(8)-(9) and (19)-(20)-(21) allows to compute the
optimal tools.
From (7) and (19), one gets the demand subsidy for intermediate goods :

s = —xFy,. (22)
From (8) and (20), one gets

xQFmIQL
15 2F)(1— o))

Bl (@) =) —aa = ¢ (23)

Fr,

which allows to obtain o, the subsidy to research.
Finally, from (9) and (21), one gets the rate of growth of the tax 7 :

i Upl , Upl
T UcFR\"" T Uph

)- (24)

There is no reason to think that the expression between brackets in (24)
is nil. This implies that it is generally necessary to conduct an environmental
policy to implement the optimal path. Let us note that this policy concerns
only the rate of growth of the tax, and not its level. We come back on this
point below.

3 Specified models

Here we consider two different specified models : first, the model of
Schou ; second, a model with an additive utility function.

3.1 The Schou’s model
We consider the following specifications :
A
Y:B(/ 95?‘di)L§R7 (B>0,a>0,6>0,7y>0,a++v=1),
0

A=DLsA (D>0,A(0) = Ag > 0), P = CR? (5>0,¢>0)
and  U(C,P)=[(CP™M)'*—1]/(1—¢) (€>0,e #0,p>0,X>0).

Using the three conditions (7)-(8)-(9) which characterize any optimal
path, it is easy to find again the solution obtained by Schou (see Appen-
dix B) :

(25)



which corresponds to (13) in Schou,

DioA1—e)+1]—p

= A(l—¢)+e (26)
which corresponds to (14) in Schou,
_ DI(B+7)0v(L =) + B +~e] = Bp
R RN Y e s R
which corresponds to (12) in Schou.
Then, from (22)-(23)-(24), one gets the optimal tools :
s=1-a (28)
o BNNI=0) 4 -Bp/D-(=c]
(B —e) + e +9lp/D — (1 —¢)]
and ; =0. (30)

(30) confirms the result of Schou. In this particular case, the term bet-

°
ween brackets of (24), p— (Uph’/Uph'), is nil, that explains why it is unne-
cessary to conduct environmental policy.

3.2 A model with a separable utility

Now we consider an example that it is exactly the same than Schou,
except for the utility function which is separable. We retain the specification
of Aghion and Howitt (1998) : U(C, P) = C'=¢/(1 —¢) — P1*¥/(1 + w),e >
0,w > 0 (see Appendix C).

In this case, the term between brackets in (24) is

Uz:h’ B (Ow+1)—1)(D(1—a)—Bp)(l—c¢)

P Upw —F Sw+D(Be—1+1—a)—~v(1—-¢)’

which generally is not nil. This implies that the rate of growth of the optimal
tax is different of zero.

We show in Appendix C that the rate of growth of the optimal tax, 7/,
can be positive or negative. Note that in the particular case 6 = 1, that
is to say if pollution is a linear function of the flow of extracted resource
(P =(R), we have 7/7 < 0.

A second basic result is that the tax level has no effect on the equili-
brium, except that it leads to a rent transfer from the resource sector to
the government. To prove this result, let us consider a steady state where
the tax is 77 = T9e97! : 79 is the level of the tax and g, its rate of growth.
From (11), one gets 7ipr, = Fr = yBAx®(Ly)?R]™". Thus an increase in
7o leads to a decrease in pg,, such that the product mpg, is unchanged.



4 Conclusion

In a model which is exactly the model of Schou, but without particu-
lar specifications, we have characterized the optimal and the equilibrium
paths. Then we have given the general expression of the rate of growth of
the optimal tax on the natural resource. We have verified that, with the spe-
cifications of Schou, this rate of growth is nil. Finally, in the case of a non
separable utility, we have shown that the level of the tax does not matter
and that its rate of growth can be positive or negative.



Appendix A : Welfare
The hamiltonian of the social planner’s program is :
A A
H= U{F[/ f(zi)di, Ly R] — / x;di,h(R)} + uq(A,L — Ly) — VR.
0 0

The first-order conditions 0H/0z; = 0,0H/0Ly = 0, and 0H/OR = 0
yield

Uc(Fx f'(xi) —1) =0, Vi (A1)
UcFr, — pqr +0 (A.2)
UoFp + Uph'(R) — v = 0. (A.3)

Moreover, 0H/JA = pu — {1 and OH/0S = pv — ¥ yield

UolFx f(x) — x| + pga = pp — fi (A4)
pv — v = 0. (A.5)

From (A.1), one gets z; = x Vi and Fxf'(x) = 1, that is the static
efficiency condition (3) obtained by Schou. Log-differentiating (A.2) and
using (A.4) gives the Keynes-Ramsey condition :

Uc  Fr o a
G oL I L I g f(a) — 7) + qa
Pl = = e f(a) - )+ 0

Log-differentiating (A.3) and using (A.5) gives after some calculations
the Hotelling condition :

Uc  Fr  Uph Uph!

P~ 0o~ Fr UCFR(p_ Uph/)'




Appendix B : The Schou’s model

Equations (1), (2), and (4) are now Y = B( [ 20di) L3 R", A = DL4A
and P = CR?, that gives at steady state : gy = ga + ags +v9r, g4 = DL,
and gp = dgR.

Moreover, from the utility function U(C, P) = [(CP~*)1~¢ —1]/(1 — ¢),
one gets Uo /U = —eg. — M1 — €)gp.

Then, by eliminating g,, the efficiency condition (7) becomes

gy =ga+9r/(1 - ).
The Keynes-Ramsey condition (8) is
pHegy +A0(1 —e)gr =gy + D(1 —a)ga/p.
Finally, the Hotelling condition (9) is

A(1— «)

p+egy + N1 —¢e)gr =9y — gr + [p— (1 —¢e)gy + (A1 —¢€) + 1)gr].

These three equations allow to compute the three rates of growth, gy, ga
and gg, given by (25)-(26)-(27), which are the ones obtained by Schou.
Then, from (22)-(23)-(24), one gets the optimal policies (28)-(29)-(30).
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Appendix C : Separable utility function

Now the utility function is U(C, P) = C17¢/(1 —¢) — P1*%/(1 +w), that
gives Ug /Uc = —¢g,.

As previously, the efficiency condition is gy = g4 + vgr/(1 — ).

The Keynes-Ramsey condition is

p+egy =gy + D(1—a)/B+ (1 —a)ga/B.
Finally, the Hotelling condition is

(1 —a)(¢R%)H
,YCl—e

p+egy =gy —gr + [p— (8(w+1) = 1)gr],

that implies at steady state d(w + 1)gr = (1 — €)gy.
As in the previous case, one obtains the three rates of growth gy, gg and

gA
5w+ D[D(L - ) — By

N S+ DB -+ (1—a)—(1—e)
_ (1—¢)gy and (1 =a)d(w+1)—~y(1—¢)
IE= St 1) 94 = 31— a)w+1)

Since Uph/ = —§¢¥ T ROWHD=1 we have Uph' /Uph’/ = [6(w + 1) — 1]gg.
After substitution, one gets

U]Zh' _ (O(w+1)=1)(1—e)(D(1—a)—Bp)
Uph! d(w+1)BEe—-1)+1—-a)—7(1—¢)’

which is different of p.

If D(1—«)—Bp>0ande >1, one gets gy > 0 and gr < 0. Then the
sign of U}:h//Uph/ is given by the sign of 1 — §(w + 1).

If§ > 1/(w+ 1), we have U;:h’/Uph’ < 0. In this case, the difference
p— U;h//Uph’ is positive., that implies 7/7 < 0.

If 0 < 1/(w+ 1), Uph//Uph’ is positive and two cases can occur. If
p—(6(w+1)—1)gg is positive, one gets 7/7 < 0. In the other case, we have
7/7 > 0.

Finally, we can observe that if 6 = 1, that is to say if P = (R (pollution
is a linear function of the flow of extraction), the optimal tax decreases along
time : 7/7 < 0.
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